NO He> Due Frfjdz
Lead 4.8-4. /O

€ Xam
Grade Co.lca.faz‘pf online

K&lo Eram l‘""‘y descassion
section to Cara back Seme

PDI'AtS
Find mistake (a €Xaem «
PX)o/AM. “J(J

' i.lﬂom'l’ for cacl @answe,
+6 Yor )C'KMJ mistake & t(f gosts




Revieco (Buex)

kfl)c{fc. E/ler?g K: ‘i"M.Vc

PD'&CA toa( &ers?

Gea v tationa | O -?Mﬁ'(
| .5/ON'A; ’ Q:‘-zikxe
Total E= K+ &
f o,.lz tonservative forces
E = &g

Emer,,~ onServed
(mechanieca ()



A mo{orcac/v. rider /eaps acress &
CANne oA wi‘(‘ an thitie .))OCQ-Q o+

35.0mls From o Aec&ﬂ' of /0.0 m,
He laras at a Aecgdt of 35,0

that 15 Ais Foaal ue/acn‘oz 7

( Mlamt‘ule)
£; - Ee. F A f; | |
.‘zL Kl_’_.;!‘ g QQ-MI- &~ ZLbe ? ;(,»f.‘ o

Lyt ol vghr-ght
V; =VV:; +2; (4.‘-/.;)




Interactive Question

Two marbles, one twice as heavy as the other, are dropped

to the ground from the roof of a building. Just before
hitting the ground, the heavier marble has

A) as much Kkinetic energy as the lighter one.
B) twice as much kinetic energy as the lighter one.
C) half as much kinetic energy as the lighter one.

D) four times as much kinetic energy as the lighter one.
E) impossible to tell.
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